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RRB NTPC General Awarness Mega Quiz

Q1. In which economic system the goods produced are distributed among people not on the basis
of what people need but on the basis of Purchasing Power?

e st JoTTelT & SaTiRa aEgs &t ARTE % GHeT I il SAFTHAT 6 YT U g1 afodh GUIA Hhl A7AT &
e u} et T smar g2

(2) Socialist/ THTSTaTAT

(b) Mixed / frfsra

(c) Capitalist/ gsaTat
(d) Marxist/ TTsFIaTeY

Q2. Which among the following is an example of progressive tax?
Rufofaa 3 & sTer T 7 TF SITET 82

(a) Excise duty/ 3caT= <[k

(b) Octroi / 3Tz

(c) Income tax/3mT FHT

(d) House tax/ [g &<

Q3. Who was the founder of the Brahmo Samaj, founded in 1828?
1828 # TS ST THTS & HEATAF T A?

(a) Rabindranath Tagore / T(&gAT &M%

(b) Subhash Chandra Bose/ 9T 3% a1&

(c) Sardar Vallabh Bhai Patel/ H¥aT¥ o TS T2

(d) Raja Ram Mohan Roy/ TTSIT T HIgd T

Q4. Red soil is normally found in India in which regions?

VR § &7 Fagr et o< i &= # a1 STt 22

(a) Eastern Region only/ ae TAT &=

(b) Southern Region only/ Fa=r zfaroft &=

(c) Eastern & Southern part of the Deccan Plateau/ T&HT T3T¥ % Tﬁ
S gferoft wmr &

(d) None of these/z=H & &< &l RRB NTPC 2019

Special Offer

Q5. Who has the power to prorogue the Lok Sabha ?

ATFEHT Y IR FTT 7 ATYTFE ey arer 27 STAGE-1

(a) The Speaker/reaer

(b) The Prime Minister/Ser w=t 35 TOTALTESTS
(c) The Minister for Parliamentary Affairs/ §9<1 ATHAT & 3T

(d) The President/Trgata Bilingual | Validity : 2 Months
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Q6. Who has the right to decide whether a Bill is a money bill or not?
I TT XA 7 AT e F e g & i Fregs o= @eras g ar a5
(a) Speaker of Lok Sabha/ & & 3Teqer

(b) Prime Minister/s&m= w3t

(c) President/Zrgufa
(d) Finance Minister/fa= 5=t

Q7. The members of the All India Services serve the —

FFgS AT |47 & a5 #Y AT FXA 82

(a) Central Government only/ & g HTHRTT

(b) State Government only/ &ae TSI ALHTL

(c) Union Territories only/a<l g aT{ara qer

(d) Both the Union and State Governments/ 3% 3T T/5T T HLHTL

Q8. The mass of Jupiter is approximately
JEEATA AT THATT AT FahaqeT 82
(a) One tenth of the solar mass/ |TT F=THT T AT T

(b) Jupiter mass is one-thousandth that of the Sun,/ FEEITT T FHATT T & TF gl &

(c) One hundredth of the solar mass/ &¥ F=THTT &1 U HIa AT
(d) half the solar mass/&1¥ a9 T 3T

Q9. The French made their advent through?
SRR 7 39T ST foreres wreaw & foanam?

(a) Mahe/ 918
(b) Pondicherry/ gife=%t

(c) Karaikal/ F3Tsaer

(d) Yenam/ I19#H

Q10. The French East India Company was founded in _____.
T Se2 ST HOHT Ft TTET w9 g3 A2

(a) 1669

(b) 1664

(c) 1665

(d) 1666

Q11. Myanmar shares around border with India.
TTATE WX & G T et T |T=AT F AT Bl
(a) 1,238 km

(b) 1,338 km

(c) 1,438 km

(d) 1,643 km
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Q12. Which of the following Indian states has the smallest coastline?
Fafatea & & g arcde asa 6t 78T @ q99 T 72

(a) Goa ATraT

(b) Kerala/Fz=T

(c) Odisha/srfem

(d) West Bengal/af&y awrer

Q13. Satyagraha Sabha was formed by Gandhi at
Tieft ST TCITIE THT & TST Fgl 6T T AqT?

(a) Bombay /&

(b) Calcutta/FetehT

(c) Gujarat ATsTTd

(d) Poona/gAT

Q14. Which of the following was not one of the cardinal principles of Mahatma Gandhi’s doctrine of
Satyagraha?

Rt & o w1 agraT Wi F aamrg F g F 9= Rgia § 9 o 7@ 9

(2) Truthfulness / TeaaTiaaT

(b) Non-Violence/ rfgaT

(c) Fearlessness / fszrar

(d) Abstinence/ T%gw

Q15. When King George V and Queen of India visited India, a magnificent Durbar was held at

ST 3T STIST V S i i STRAT 7 WIKa &7 K17 TR, T S+ 1T #igl U AT9aTe SXaTe s itera 3T 1T
qT?

(a) Calcutta/ser=h<r

(b) Delhi/few=tt

(c) Bombay /atee

(d) Madras/Hsmda

Q16. Who was the Chairman of the States Reorganization Commission?

AT TRIST AT 3 AETET HT A2

(@) Shri HN. Kunzru / =t 1=.14. 351

(b) Shri. K.M. Pannikar/ =ft #.uq. aforgx

(c) Syed Fazel Ali / 835 i<t 3Tt CRASH COURSE
(d) None of the above/zaH & IS ol el A

Q17.When was the States Reorganization Commission U LT' MATE
constituted? Complete Package
ST YANIST ST HT ST i THAT T4T AT? -
(a) December 29, 1953/29 faaw=<. 1953 RRBNTPC

(b) December 29, 1952/29 feawT, 1952 AllSUBJECTS

(c) December 29, 1951 /29 fe\e¥, 1951 —
(d) None of the above/z# & FIs Tt Bilingual ' With eBook
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Q18. When did India become a fully Sovereign Democratic Republic—
T QUTaAT €Y AR 0TS e qAT AT?

(a) 26th Nov. 1949 /26 Fa¥aZ 1949

(b) 26th Nov. 1930/26 Fa+=< 1930

(c) 26th Jan. 1950/26 S=a<Y 1950

(d) 26th Nov. 1951/26 Faw¥ 1951

Q19. Which of the following is NOT a part of the Western coastline?
Fufefaa 9 & w7 aferdft qe ar #1 fear =81 82

(a) Kathiawar Coast/ FT{&aTaTE a2

(b) Konkan Coast/ai=ur e

(c) Malabar Coast/ ATATATE A<

(d) Coromandel Coast/ FITHSH q<

Q20. According to the Indus water treaty which river will be not governed by Pakistan?
fotey ST &t 3 srga A |1 S arfaeaT gy enfea gl gf?

(a) Indus / f&ig

(b) Chenab/=ATar

(c) Jhelum/zr=rg

(d) Ravi/TT=T

Q21. The ozone layer protects us from harmful rays of the sun.
AT 9L A ¥ gIAn TReoTT & gHTT T FT g

(a) Infrared/ T=FTLE

(b) Cosmic/ Sgi=i =

(c) Gamma/ ITHT

(d) Ultraviolet/ T=Ta T+t

Q22.First time which year the Railway Budget and the General Budget were presented separately?
gt T e aF 7 T I97e 3T S ST ST T T 69 TT A2

(a) 1924

(b) 1947

(c) 1952

(d) 1977

Q23.Which of following sectors does NOT come under tertiary sector?
Fufefea 3 & 17 9T & JATaT &7 F siavia Tgl onar g2

(a) Electricity/ farsteft

(b) Business Services/ =ATITE HATE

(c) Transport/ THITE

(d) Trade/ =TI

Q24. In which conference of 1888, the constitution was created for Congress?
1888 & e avie |, FU9 & forg dferem s=mar /= o2

(a) Bombay/a e

(b) Calcutta/=eT=<T

(c) Madras/Ha1d

(d) Allahabad/zeTg e
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Q25. Which of the following decisive battles had established the dominion of the British in India?
Fafatea & & g Fofas a1 3 =g & ¥t & stfeasy & enfoa B o

(a) Battle of Plassey/ =ATHT &1 5

(b) Battle of Buxar/ S T 5

(c) Battle of Wandiwash/ =srifearer &t =TS

(d) Third Battle of Panipat/ ar=itad ¥ et =12

Q26. Usually each state has a High Court, but acommon High Court for two or more states or for two
or more states and union territories can be established by

AR I TAF TSI | TF I ~AATAT AT g, AleheT <1 IT &7 (T TsaT AT & T ATAF AT 3T &
AT TREA F T U = Sg Ay o6 & gRT emiua fonam S aehar 82

(a)The Parliament/&93

(b)The President/TTgafa

(c)The Chief Justice of India/ WTXd & TET ~ATATLTIr

(d)All the above jointly/ IT2Th st T3 &9 &

Q27.Generally, the High Court of a state consists of a Chief Justice and

A AT 9, Foret ST & I AT § TS q&F ~ATATEer grav g i<

(a)Nine other judges/ AT 3= =gTaTefter

(b)11 other judges/ TTg =T ~ATATETT

(c) 15 other judges/ 958 3= ~aTATETT

(d)Such other judges as may be determined by the President/ T# 3= =rrarefter sta o Trgafa g fRaiha
a7 ST ThaT B

Q28.Which of the following states/union territories have a common High Court?
Fufofaa 9 & e ST/ 3 arfea 9297 § TF 9T Sg ey 82

(a)Uttar Pradesh and Bihar/3<¥ Y=4T ¥ fage

(b)Punjab and Jammu and Kashmir /9Tl 3T SF-FeH T

(c)Andaman nicobar and West Bengal/3i=aTe fsha? sie afsra svrer

(d)Assam and Bengal /318 3f¥ a9Ter

Q29. What is called the residual eroded mounds sporadically located in Karst Plains?
Free Al | fAfiof w7 & srafire e gu Srer st =41 Fw gy Arar 82
(a) Monadnock/ WA (®

(b) Pediplain/ 9=t

(c) Hum/gx . 6 Months Subscription
(d) No option is correct/#TE faseq gt 781 §

Q30. Who among the following is the author of Sri Lanka's
national anthem? D D D kl T D P
Fuferfaa § & sfisisr & Tgme F J@® FAT 82

(a) Ananda Samarkone/ <& HHIEHA

(b) Kumar atunga Munidasa/ FHTEGIT gHETET SU PREM E
(c) Siri Gunasinghe/ LT Tporferer . .
(d) P.B. Jayasekara /T, Y. st All Railway Video Courses
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